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. At the start of the examination check your Question

3. Answerallquestions. All questions carry equal marks.

4. Only one answer is to be given for each question.

. Each question has four alternative responses marked

. Use of Calculator, Mobile Phone/Bluetooth devices

. If there is any sort of ambiguity/mistake either of
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questions from S.No. 1 to last S.No. 100 are printed
and pages from S.No. 1 to last S.No. 16 are there in
the Question Booklet. In case of any discrepancy
the candidate should replace the Question Booklet
and OMR Answer Sheet from the invigilator. No
objection in this regard will be entertained after five
minutes of start of examination.

Overwriting and marking multiple answers will be
considered as wrong answers and 1/4 mark will be
deducted for each such answer. Leaving a question
unanswered will get zero mark.

serially as (A), (B), (C), (D). You have to darken only
one circle or bubble indicating the correct answer
on the OMR Answer Sheet using BLACK/BLUE
BALL POINT PEN.

or any other electronic gadget in the examination
hall is strictly prohibited. If any such prohibited
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Th WG ! SIEEAT | 4% h a1 g
Rl & g TR 35 R 0,
T T i Il 2 | o A # gig w1 iaera
A ERTI ?

The population of a town increases 4%
annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?
(A) 9.8 (B) 10.8
(C) 105 (D) 10

If (1 +£) = (1 +%J , then the value

169
of x 1s
A) 1 B) 7
©) 5 D) 3

W%ﬁ@ﬂﬁﬁﬁ%%?
(A) 300
(B) TIeifa 78 st gehd

(C) 500
(D) 400

How many % ’s are there in 37 % ?

(A) 300
(B) cannot be determined
(C) 500
(D) 400
36.1 o
102.4
29 29
A) — B) —
(A) T (B) 2
19 19
c) — D) —
©) T (D) -
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10.

13 9ftorm} 61 37Ed 68 7 | U8t |id I
37d 63 7 3R 31Ra T1d =1 3fi|d 70 2,
@t |rdd < g § —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 47 (B) 94
(C) 73.5 (D) 65.5

QY 1 gY 3T AT ST AT SHTAT HETar
3T9j%

(A) T THIFL M

(B) 3fua ot s

(C) weraTaqul for e

(D) forer-Seret &

[ T T = T |

(A) FETR

(B) d@gthI

(C) wfgshr

(D) ®TfEshR

g o e = faam g R 7
(A) it (B) Hfusd
(C) wmft (D) qom
TSTaed’ Rl TIFAT 3

(A) TRH (B) fersy
(C) Tomfa (D) HeMTE
‘hicl § W g’ 9T o foqw i few o
foreheu © @ U w1eg g ¢

(A) HH

(B) wheahTehIvl

(C) Feel

(D) feehiot



Directions : Read the passage carefully and
answer the corresponding questions : (11-13)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying
to get to sleep but my fear made that
impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

11. The author sat peering into the darkness
because

(A) he had put out the light.

(B) he was afraid.

(C) the window had looked like a plate

(D) he wished to see the window.

12. The author jumped out of bed because

(A) he heard a faint sound.

(B) he was pushed by someone.

(C) acold breeze blew past his face.

(D) he saw someone coming towards
him.

13. Which one of the following did the

author do first ?

(A) Closing the door.

(B) None of these

(C) Rolling himself into blankets.

(D) Climbing into bed.

14. Give Antonym for the following word :
Keen
(A) Dull (B) Eager
(C) Humble (D) Alert

15. Give Synonym for the following word :
Pride
(A) Humour (B) Cowardice
(C) Dignity (D) Hate

16.

17.

18.

19.

Teh HATGH! - Ueh Aleel & T, “Jrel Hi
ufer 1 5& o g3 7 | 98 ufgen 3@

e & forg TR Fafta g 7
(A) ot (B) &
(C) =i (D) drdft

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Daughter (B) Sister

(C) Mother (D) Grand daughter
feu U fopedt W & wafuq wsg 1 WA
i -

sl ST ;s ?

(A) I (B) &

(C) wafa D) 7Y

Select the related word from the given
alternatives :
Dog : Rabbies : : Mosquito : ?

(A) Plague (B) Stings

(C) Malaria (D) Death

3 9eE 1 =I HTT I g % «1ehl =]
EE SR RCol

(A) T (wEfe) (B) wred

©) M (D) R

Choose the word which is least like the
other words in the group :

(A) Nun (B) Priest
(©) Monk (D) Knight
fepeht fifeaa e w1 § COMPUTRONE

%! fef@r S 8 PMOCTUENOR | g&t
% W1 § ADVANTAGES %1 %1 feran

a7

In a certain code language,
COMPUTRONE is  written as
PMOCTUENOR. How is

ADVANTAGES written in that code ?
(A) SEGATNAVAD
(B) NAVDASEGAT
(C) AVDATASEGN
(D) AVDATNSEGA
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20. I % SR T JANTEHAT §¢H 5 I |

WA | fohereh G WIETSd T4 T AT

& TeRat T 2

(A) TETER UF YNGR e HATeAd

(B) ¥ BRI

(C) 3TN FATCT

(D) & HATT

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) Ministry of Health and Family
Welfare

(B) None of these

(C) Ministry of Ayush

(D) Ministry of Home Affairs

21. 3G 18 wadl, 2005 HI IehAR 7,
18 ®ERY, 2007 1 I &1 fe g 2
(A) TqEr (B) FHAR
(C) HITaR (D) "HER
If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?
(A) Sunday (B) Wednesday
(C) Tuesday (D) Monday
22. I o 3 M T o1 AT 11 3§ Fore 370
ot el <t wamee s weH fha & 2
(A) TR (B) hlesh
(©) TI™H (D) el
Name the state of India which became
the first state to provide health insurance
for all its residents.
(A) Gujarat (B) Karnataka
(C) Rajasthan (D) Telangana
23, SAREHLIME. | 22 e, 2021 & Fop e
T 1 T TS ST T T Sfcare o fean e 7
(A) AR&E  (B) g;ﬁﬁéq‘é
(C) =9 (D) fer
Which payment system has been barred
by RBI from issuing new cards from
22 July, 2021 ?
(A) Mastercard (B) None of these
(C) Rupay (D) Visa
GAMMA21

24.

25.

26.

27.

—4-

s 2021 % foTw form <1 61 arare fava
H gy SfwamTel! grEare Hi vl § qed
SR E ?

(A) &9 (B) SmUHE

(C) wrd (D) LU

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?

(A) Russia (B) Japan

(C) India (D) UsS.

R GUIfeEE 2021 H fohehl I
T o EAS—aTEeh o [oTU ATHA R 71T 2
(A) HITT ATRST

(B) 3fsfa @

(C) Ca gt

(D) A UTele],

Who has been named the flag-bearer of
the Indian contingent in the Tokyo
Paralympics 20217

(A) Kashish Lakra

(B) Ajeet Singh

(C) Devendra Jhajharia

(D) Mariyappan Thangavelu

2021-22 % &L FET (JeTs- ) <
e g afg @ fi TS A8 2

What is the interest rate on Sukanya
Samriddhi Accounts for second quarter
(July-Sept) 0of 2021-22 ?

(A) 7.6% (B) 9.6%

(C) 8.6% (D) 6.6%

AT BT 3 SheH T T ST Teh BIRITTT
1 I Sictigg S o AT
w@e |

(A) TR UF &= (B) forem &e
(C) difteht urgehioT (D) fSrerent =

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress
(A) Aishwarya Rai Bachchan
(B) Vidya Balan

(C) Deepika Padukone

(D) Priyanka Chopra




28.

29.

30.

31.

32.

T 1 9 Topd T BT “U=T ST T W <k
ATH F ST ST 2

(A) SIOH (B) #icient

(C) et (D) M

Which of the following countries is known
as the land of “Thunder Dragon” ?

(A) Japan (B) Srilanka
(C) Nepal (D) Bhutan

T form qu el g 2 2

(A) HMR (B) TTH YT
(C) ¥4 3@ (D) sy

Riyadh is the capital of which country ?
(A) Myanmar (B) None of these
(C) Saudi Arabia (D) Bangladesh

atyerrg faum v 2021 1 g fR|
TSI g H St ?

(A) B (B) Htwa.®

(C) TIMWUITWH,(D) .94
Tamil Nadu Assembly Election 2021
was won by which political party ?

(A) DMK (B) PMK

(C) AIADMK (D) BJP

Ifvges wnfa gaeies 2021 T & A1 <N
R

(A) S (B) et

(C) TS (D) SIS

Global Peace Index 2021 topped by
which country ?

(A) Denmark (B) Portugal

(C) Iceland (D) New Zealand

HH @ T WHR T gEt efea
RIS ATSHT <l AR FhaT @ 2

(A) TR (B) foer

(C) dftrerrg (D) 3T e

Which state government implements
Chief Minister Dalit Empowerment
Programme ?

(A) Telangana

(B) Bihar

(C) Tamil Nadu

(D) Andhra Pradesh

33.

34.

35.

36.

37.

FAUYT T el a8 2
A) e (B) femmm
(C) U (D) @&l

The International Court of Justice is
located at

(A) Geneva (B) Vienna

(C) Amsterdam (D) The Hague

fowa wirg “@SuE! qideemd fra g —
(A) ToNIaH (B) wewrgH

(C) ffsam# (D) " YT
The world famous ‘Khajuraho’ sculptures
are located in

(A) Gujarat

(B) Maharashtra

(C) Odisha

(D) Madhya Pradesh

&A% i 3fY § wRd 1 Fr= ° @ B @
T ol B8 ?

(A) Tafesn (B) T

(C) WuTe™ (D) T3

Which of the following is the smallest
state (in Area) of India ?

(A) Sikkim (B) Mizoram
(C) Meghalaya (D) Goa

TS AT o I §CHCEA! 1 HRIHIA feha
T BB ?

(A) 298 (B) 8o

(C) 6a8 (D) 498

What is the tenure of the elected
members of Rajya Sabha?

(A) 2 Years (B) 8 Years

(C) 6 Years (D) 4 Years
Torvar o vy Uy foam e g ST B 2
(A) 203/ (B) 307K

(C) 279d« (D) 24 TR
When is the United Nations Day

celebrated across the world ?
(A) October20 (B) November 30
(C) November 27 (D) October 24
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38. UTHg TSRS 3c8d 390 8 fra U9 §

geg e ?
(A) * (B) 3ffem
(C) T (D) foEw

The famous Nabakalebara festival
belongs to which of the following states?

(A) Kerala
(B) Odisha
(C) Rajasthan
(D) Bihar

39. T 5 @ 1 i o BiaTe W e @ 7
(A) =
(B) FARIGA3TIHTSH (CFC)
(C) hTs SEHATHETES
(D) TS

Which of the following is not a green
house gas ?

(A) Methane

(B) Chlorofluorocarbon (CFC)
(C) Carbon dioxide

(D) Nitrogen

40. 379 QEhR fepafere feu sma & 2
(A) ITdeRTe ferfa o fafse T 6 fete
(B) Tafsre gurs qanati & fow
(C) WA & § Ichy ez & forg
(D) I #H sitar s forg
Arjuna Award is given for
(A) Exceptional service in emergency
(B) Exceptional social services

(C) Outstanding performance in sports
(D) Bravery on battlefield
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e« Fr=ferRaa e <t exYE ufew e 3|
TR 3G YT (41-45) o ST AT :
A JU A H 399 3R TR
SRIATd YT Tt B 3N Wi Tra | ot
SEHT STIETE TE & | HETcHT el o6 g § T8 4G

o fopelt $eat-3 dqen wH-wEW % @1 T

o7 | TefiSht 38 TmE HEd o | 36 di 3
e, enfifes e qenm = IuAfRET 1
AT BT Tl o7 TS 37k HeT=RuT 3T S8R
HT | W @A S hl TR W@H 6 &
HR0T IE 7 T a7 SHAiR o 7UTq 380 <
LA IR AT o A Gfefetd &, =18 9 ol &
37 T, TE AT AR ' 31eer ol gueri & |

| 3Hh 1Y Bl I§ Uoh YHUET 3T Taadl shiHal

%1 FOWeiiel TP 3TGIeF o1 | a9 YRA 6
TN & &Y H B9 AT STl 3 G-
TR 1 oY 331 8 § | g9 | el |ehd Toh
3q9 92 < § 37T T S oh oI 89 AT
feffer 72 <7 dehd & =1 IS el HHT AR H
fezn e a1 g9 3ueh fawg st & 331 wehd
o 37 EH ST T TaAATIaeh oh el ot dehd
q |

| 41. R ¥ 30 B

(A) Gt ol w7 31T
(B) Torslt oft et =1 7w
(C) o i 3rasT

(D) o U EEA&T T LT

42. T WAT I 6 W Wamdr U™

SRS o7 ?

(A) I TECH Tiel % HesgdagR 3R
T b1 T 1eh AT |

(B) zud |efi Sirfert, i, et o < A
ot foram o |

(C) 98 Taaar-HfR ST e T |

(D) & famg 3R yoerwH wffirfera gu |

-6- G



43. 3TYH TR H W TRV’ Seg i 37
3_
(A) IHBFEIAF (B) TTHIE
(C) WM HEA (D) ITHH g8

44, T T H TG 4 G F T A1 7

e

(A) TTSITE H ShTfehTi <h forsry ifirept
ot |

(B) TETCHT TITet & e H TP G
SHET T |

(C) T[T <31 =ht oI haft off |

(D) WG % Hu¥ H FHTH H @&
TG T |

45. IYTH TTEITE % T@h T 39 T AT ?
(A) ©TfHe IATEATAT N TIHTER i
Tl o |
(B) SHTCehdT & BT M |
(C) IS T & g T |
(D) YR TEaFal T i e
EGIGIN

fdwr ;. Fr=feriga e 1 sargdes dfew qen 34
T SN T (46-50) o IT T -
faemar-traa 3@ gfy = faui & w3 |
3IGeh! HRTH 1 FaAH T | 39 THS B
STEUE HT o &Y HHH T Sreifepi 7 aIq.
Tue 7q sramve’ Y sheud shi off | 3R I8 HeuAt
AT Shou1 et off, Sed wemed oft oft wfifep wra -
T 4 S for=rmon o &9 1 9fed g1 2, 36 I hid
w9 A GE R | T Al T, AHG HT IR A
A R | 3EH | 30 oA, SThNh T ATTIH
9G¥ § 30T hal & ? QA Ud Mg 7
AHa-Hied | Aifecsii 3 38 €9-Hied

G

0T o ToTe fepa €1 srsregetl o1 forerm fopa 2 31k
39 Gied-Ti @ Tefi &1 3| i & oy
S e gl e |

gifgcrefe=t 3 off 35 gme i areEe

1 ferear hd gU 3 T ol T&avr fopam 2 |

T ST g @ foemr fohan St at e -wi
1 Ueh SIfeet I § 3uftrd feopan ST gepan 2 | ot
YR IA o Teh Jol H QY 37 I T TR I=
TSHS] SITdT 8, ShR &l ST & IHT JhR AHa-
IR o fafir sraaai @ 9 afe +is ueh tauq o
forTe Srar @ 1 &R IHTE ER IR W gedl § |
T &1 &Y, T[S S8 ShIHel T T el o TS
B S " g TMasfiel IYF= THITh Haeg Bl
TRl 7, SATh hl T B Thal & | Th 3
foerd 89 W =W ¥R <fugd 21, 98 Hrersaterd
Bl 9T — g foamofig 2 |

Ife ferelt =1 & S I STt 3Tk TIH
T AT Y11 IR I bl qaad YaTe Ud ST e ferd

- E9 ¥ ToRaTeiicl SIS Eehdl 2 Al WL <k forehd

I o WH W A7 Fwg 30 et IR
LY U T A1 T2l ST ST Hehd 7 e -
Tafercaent 7 39 GIRICIYET AT oh! TR feha
AT R STeEEE QUi % SRR -
TR o &3 H Ahetdl ITH Shl | 3FT-TeIIuT
%1 3290 2 o agea dafy Tk | T=i a8
eTaed & Toh THa-IRRX & fopet & 3171 1 3
TehR ek &1 hidl, 5 Tehr & fort) o1 &
30 Tliepr T gran | Ueft b1 Th ¢ | & Th -t
T 0T STATEIF g, A IFT-TIARI0 F g
Fcleh—THET0T (a8 | 3T o1 ey - Ffehedeh
e, IHhd, 3d, HHS I T HI TIARIY
FhHAATIEH L &1 § | Ae-8ro fafrareral
T Afeass & Itfafcs IR & 9= aeft 31 &

- IR FEE BT R
_7_
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46.

47.

48.

49.

50.

ye-fafshement g R il T

TrRreagut gAY off

(A) STl IR o T o ey TS

(B) ia-Tafercan o1 waw wefud it

(C) ITT-YINTY gRI IR sl THH
EEIE

(D) WHE-IRR I g & S=H1

ITe0e § W TR’ vreg 1wt B
&) I (B) =
(C) 31U (D) T

TG ! IS 1 oY €9 AT T 8 FiTh
(A) HHE-TE H S ufed g ], 7€ giy
Hafd g g |

&g Are g e Hr a=f afp 2 |
T <Y 3R TR R |

AT giE o1 fauiik 2 |

(B)
©)
(D)

IAfek Y T TeATRA 31T BT 2
(A) WTfecThr A

(B) i |

(C) wea-Tafercas o

(D) wfEcTemEt §

A YRR 1 J=Add g T 8 Rifh

(A) HHE IR g¢ AUl 3R sraeai
gfaffa g |

(B) WM SRR fagrar shi gi® i e
Fid g |

(C) 319d &t g1 & foehd B4 & IR
FAaq ST gl ST g |

(D) | IXR I I Witd Arevaqg g
2|

GAMMA21

100

féw (51-55) : Trifena Tafam o Hite o fafte
a1 o S Icared (fuferam e o) ewrten w2
T 3TERH i TR FeAferfad et o T i
Directions (51-55) : The following graph
shows the production of cement in Million

. Tonnes during the various years. Study the same
and answer the following questions correctly :

e T IS
(Frfem za o)

Production of Cement

(In Million tonnes)

40

S1.

52.

53.

itz 1 Tfrehan IcuTe ot g7 38 9

The maximum production of cement was
noted in the year :

(A) 2013-14 (B) 2017-18
(C) 2018-19 (D) 2014-15

T 2011-12 % GRH 3G ghg e
foresey o 61 g o

The percentage increase in production
during 2011-12 over its previous year was :
(A) 31.8%

(B) T8 ¥ w1g &l / None of these

(C) 37.5%

(D) 36%

IEUTEH JTTIha™ R e 39 9 =T

The production fell down to the
maximum extent in the year :

(A) 2012-13 (B) 2019-20
(C) 2016-17 (D) 2015-16



54.

5S.

Ieare | frsel o Y ot o o
% G Iferehan Ifg g8 |

The increase in production
maximum during the year
its previous year.

was
over

(A) 2013-14 (B) 2018-19
(C) 2014-15 (D) 2017-18
JUH 9 99 S 3Ed IcTed ol

The average production during the first
three years was :
(A) 44 MT
(C) 48MT

(B) 50 MT
(D) 46 MT

T (56-60) : fezm T 7T U a5 X % ST
12013 T 2019 o H&T U< T9Y H AT |
IMT 77U T 9 31T 991 o I |

Directions (56-60) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

56.

4 X R 3=

2000
Import of X —
g 1300
S 1200 1200
=
E 900
€700
B
= v ° & =z =
h -+ v NS o 0
= = = = = =
[q\] [q\] [q\] [q\] [q\] [q\]
X % 3T9d 3T @ 37feh 3A=ITd 37 X
SEd 3T ¥ HH AT o 91 Sl 37T

The difference of the numbers of years in
which import of X is less than the
average import and in which import of X
is more than the average import is

(A) 3 B) 0

© 1 (D) 2

57.

58.

59.

60.

TN 2018-19 % GRH X % T § Fasra
gfg |t aui o X o ST o 36 3
EAEZEIRN

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 50.9% (B) 64.38%
(C) 70.6% (D) 63.5%

¥ 2014-15 § 2015-16 % SH X
31 # gl 2 —

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 43.0% (B) 25.0%

(C) 28.8% (D) 33.3%

Tt i & oo ad @ Iy X & 31 6
gfg 1 3f|d (T RS H) 7
Average of the increase in import of

X year by year for all the years is
(in % crore)

(A) 260
(B) T8 ¥ w1g &l / None of these
(C) 325
(D) 280

TorTa fepam ot qeh X o1 AT, X o 379d
T B M oA ?

For how many years, there was more
import of X, than the average import of
X?

(A) 4
©) 2

B) 1
D) 3
GAMMA21



T (61-65) : € 7T qTfetent /AUl 1 SIS
A L a9 e I9Ai & IS

Directions (61-65) : Study the table and
answer the given questions.

T aiferem § IR ==t A, B, C 91 D 918
fafy= ffi magsi Hi fshi R &
In the following table four persons A, B, C and

D are selling items on different days of the
week.

A B C D

@mar/ Monday | 40 | 45 | 25 | 20

e’/ Tuesday | 35 | 50 | 48 | 26

AR/ Friday | 25 | 28 | 15 | 41

R/ Saturday | 30 | 40 | 45 | 40

61. §wg o At 9R et 5 D a&q i foshl 6
qorT | B 9% hi forshl ® ferae wferera
i3 3T% ?

Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 29.1% (B) 283%

(C) 183% (D) 19.5%

62. TYAR I o=t g TGN h a3
YFRAR I S TS IEGIT T 3T o T
fepa ST R 7
What is the difference between the

average of items selling on Monday to
average items selling on Friday ?

(A) 10.5 (B) 6.45
(C) 5.5 (D) 7.40
GAMMA21

63.

64.

65.
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TR 1 A gRT st T8 a5 aT IHaR
I C GRT St 178 I ST ST T AT 7
What was the ratio of item sold by A on
Tuesday & items sold by C on Saturday ?
(A) 9:7

B) 8:7

(C) 6:5

D) 7:9

YR ! D gRI st T8 g%, MR bt C
BRI st 718 S 1 fehaT wferera oft ¢
Items sold by D on Monday is what
percent of item sold by C on Saturday ?
(A) 42.60%

(B) 32.70%

(C) 44.44%

(D) 49.55%

B, C AT D gRI 5hH¥T: GIFER, HITEER a2l
IR T St 178 S 3Tl b1 STa = 2 7
What is the average of the items sold by

B, C and D on Monday, Tuesday and
Saturday respectively ?

(A) 4433
(B) 45.90
(C) 46.66
(D) 42.50



e (66-70) : & 71 afetent /Aol 1 SYES  § 68.
31er ot e A e sl & ST
Directions (66-70) : Study the table and
answer the given questions.
W 3§ 2010-2017 S T HHA! 1 ScATGH
Production of Crops in India during
2010-2017
(e ﬁ) / (In tonnes)
¥/ | W/ v ) T /| | T /| e/ 69.
Year | Wheat| / / | Maize| Barley| Pulses| Potatoes
Rice | Bajra
2010-11| 6121 874 565 | 80 [ 300 | 415| 210
2011-12| 7010 | 964| 655 | 60 | 312 | 417 | 220
2012-13| 7112 960| 780 | 55 | 210 | 680 | 222
2013-14| 7056 | 985| 1110| 40 | 200 | 310 | 245
2014-15| 6896 | 716| 1160 90 | 216 | 370 | 315
2015-16| 6912 826| 1450| 110 | 160 | 300 | 400
2016-17| 7617| 812| 1460| 75 | 216 | 260 | 445
66. 2016-17 % e 514 Y fohel Hct o IeaTe
7 forget o 6t gor & fitrae gt 78 ?
(A) St (B) 371 0.
(C) =& (D) SR
During 2016-17, which of the following
crops showed decrease in production in
comparison to the previous year ?
(A) Barley (B) Potatoes
(C) Rice (D) Bajra
67. 3Tc] 1 3ATGT 2015-16 T 2010-11 T
e fepaT e B 7
The production of potatoes in 2015-16 is
approximately how many times that in
2010-117?
(A) 1.82
(B) 1.90
(C) 2.10
(D) 2.00
G —11-

g IcTeA ¥ forg o o g fimrae feamg
dqe

Wheat production started showing a
slump during :

(A) 2013-14 (B) 2016-17
(C) 2014-15 (D) 2015-16

0 4 forl wEA | 2013-2017 & 9%

IeTE | AR g oot 1 TS 7
(A) TEH (B) SR
(©) o (D)

Which of the following crops showed the
continuous increase in production during
2013-2017 ?

(A) Maize (B) Bajra
(C) Pulses (D) Barley

2010-11 § 2016-17 i 3Taf o AL 3L
%1 3Td IcTeH fehaT 8 7

(A) 300.00
(B) 253.86%F
(C) 353.96%
(D) 293.86%F

What is the average yield of potatoes
during the period 2010-11 to 2016-17 ?
(A) 300.00 tonnes

(B) 253.86 tonnes

(C) 353.96 tonnes

(D) 293.86 tonnes
GAMMA21



71.

72.

73.

74.

IR 3fem § et ik 2 2

(A) I HH o Tfeg ATt

(B) 3T U w1 T

(C) &Y % THT & Teh TG TehehR

(D) < farshaTiee <ht @ <t FEnia
T T fdrg, Fafercaeh

In Indian History who was Dhanvantari ?

(A) A famous general of Chandragupta

Maurya

None of these

A famous dramatist who lived

during the time of Harsha

A noted physician who adomed the

court of Chandragupta Vikramaditya

frafearfaa fora a7 v a1 2
I THEq

II. R
L 239

In which order did the following come to
India ?
I Thomas Roe

(B)
©)

(D)

Ii. Fa-hien

III.  Hiuen-Tsang

(A) I IL III (B) 1L I 1I

(C) IL I I (D) II I, III

st -3g-<ten fope I o SO | TS
BT AT ?

(A) s (B) T U HIg &l
(C) anfugars (D) eI

Siraj-ud-daula was defeated by British in
the battle of :

(A) Buxar (B) None of these
(C) Wandiwash (D) Plassey

STH T S FQU Hifel” oh gl aHeeh o 2
(A) WAEdasell  (B) e 3™
(C) refua (D) TS SIS
Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?
(A) Lord Wellesley

(B) Lord Hastings

(C) Lord Minto

(D) Lord Dalhousie

GAMMA21
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75.

76.

77,

78.

T =1 fe ot

a. eI A9 AT 1. AN SIS

b. e qret 2. guTSES 9

c. Touem 3. ot "aet

d. B &S o 4. ThHEE=

Match the following :

a. Indian 1. Lala Hardayal

National Army

b. Ghadar Party 2. Subhash

Chandra Bose

V.D. Savarkar
Annie Besant

c. Mitra Mela 3.
d. Home Rule 4.

League

a b c d
A 1 2 3 4
@) 4 2 1 3
C 3 4 1 2
M 2 1 3 4
Afeptefia W o forawor areft “gfesm &
KICER
(A) WA (B) A HIE
(C) =TEm (D) WRIM

“Indica” which is an account of Mauryan
India was authored by

(A) Megasthenes (B) None of these
(C) Hiuen-Tsang (D) Fa-hien

T30 U forE o RA H o o) AR ?
The Simon Commission first visited
India in the year

(A) 1925 (B) 1928

(C) 1919 (D) 1926

TR T ®ue grn feg aAfeese o

vfgTiées “qul s (U Waedr) &1
TRTd TR TR T 2

(A) =S (B) w@TS

(C) ==t (D) WER

In which session, the Indian National
Congress passed the historic “Poorna

Swaraj”  (complete  independence)
resolution ?
(A) Bombay (B) Lucknow
(C) Karachi (D) Lahore

G



79.

80.

81.

82.

HI30E TR T IYH g1 IeT8 fohd a8 <6l

TS ?

The Mt. Everest was first scaled in the
year

(A) 1951 (B) 1958

(C) 1955 (D) 1953

= 4 @ fpen v meft % Rawea
TG ¥ & w1 Torig foma 2

(A) M 3o THFRR TH
(B) YA hAM AWG
(C) wrgwe 3reft ot

(D) I &

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Khan Abdul Ghaffar Khan

(B) Abul Kalam Azad

(C) Mohammed Ali Jinnah

(D) Fazlul Haque

STH T DI T ShTfThRI TS HIehHl TSI
Y H I o7 2
(A) T i

(B) Tergeam fafecters wHiféasH
(C) ANEE vRa I

(D) Iefie afufa

Which of the following revolutionary
groups was involved in Kakori
Conspiracy Case ?

(A) Ghadar Party

(B) Hindustan Republican Association
(C) Abhinav Bharat Group

(D) Anushilan Samiti

TARTISH AR STy fohd T a8 ?
(A) Tiere (B) el
(C) Tm (D) FT

The Nagarjunasagar Dam has been built
across the river
(A) Godavari
(C) Ganga

(B) Cauvery
(D) Krishna

83.

84.

8s.

13-

T | fera veft 3o /Tg 3T &1
am g

(A) YHEUSTE IR

(B) TN FAHARTY

(C) hadTed aHT TEH 3T

(D) < 31RO

The name of the bird sanctuary/national
park at Bharatpur is

(A) Bhensroadgarh Sanctuary

(B) Ghatprabha Sanctuary

(C) Keoladeo Ghana National Parks
(D) Darrah Sanctuary

TreTTs 30T TE % ©fig 31 T Eld B
(A) Toell-TSEU  (B) USHIG

(C) 3ufen (D) &l

The source of iron ore for Bhilai Steel

Plant is
(A) Dalli-Rajhara (B) Rajnandgaon

(C) Umaria (D) Korba
few U <t 31 376 T BT S 1 SIS
g—&&:@g ?

SifeT SR o — S 3R i
2. o A= AT 3R

IREET RS - IIN
3. ymmer, g um
S T

4. Y AT IR ot o — Tafamn

(A) 132 (B) 1,233
(C) 334 (D) 233
Which of the following passes and
locations is/are wrongly matched ?

1. Zojilaand — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. ThagaLa, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) land2 (B) 1,2and3

(C) 3and4 (D) 2and3
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86.

87.

88.

89.

YRA T 3 Shifd & Seh o €9 H i
TSR ?

(A) SAIHTT HEdl

(B) THA wge

(C) UH.TH. WHHH

(D) . | piEa

Who is known as father of White
Revolution in India ?

(A) Balwant Rai Mehta

(B) Norman Edburg

(C) M.S. Swaminathan

(D) Dr. Verghese Kurian

fopeeh Sg o woreawy Hsfl faw 4 gfg
1 31fereh Ty BAAY 7

(A) &SI

(B) AferdTd X

(C) & dSft W gt wifeq

(D) I & Hid

Private investment will be most likely
to be increased as a result of a rise in
(A) The rate of interest

(B) Personal taxation

(C) Expected yield on new capital
(D) The price of shares

IR Sl TFRT ST hT IAThet hid el
e 7

(A) IIR..3TE.

(B) h1d TifeTeh! e

(C) Tora wamerm

(D) Hifa s

The agency estimating the National
Income of India is

(A) RBI

(B) Central Statistical Organization
(C) Ministry of Finance

(D) NITI Aayog

HaTT &5 1 U A TR 2

(A) gt (B) P

(C) fodtas (D) wefie

What is another name for the Service
Sector ?

(A) Tertiary
(C) Secondary

(B) Agriculture
(D) Primary

GAMMA21
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90.

91.

92.

A | ST IR 1991 o SR Tema
HHEY ?

(A) W& waE e

(B) ¥TH & i3 &

(C) . gmred fim

(D) 37 fogrd) arstueft

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) P.V.Narsimha Rao

(B) None of these

(C) Dr. Manmohan Singh

(D) Atal Bihari Vajpayee

A < Gi9g™ ¥ 30 § =& T g o
Tfefera 72 8 2

(A) gfer

(B) U Wisha Afga

(€) S

(D) W 3R e

Which one of the following is not
included in the state list in the
Constitution of India ?

(A) Police

(B) Criminal Procedure Code
(C) Prison

(D) Law and Order

freferfiaa & o R dfaam 6 e
foomar i 2 2

(A) 3¢ Tefig g

(B) ToiRaa afeem st afqam 6 gaierar
(C) et = ferawor

(D) fderg =

Which one of the following is not a salient

feature of the Constitution of India ?

(A) Quasi federal structure

(B) Written Constitution
Supremacy of the Constitution

(C) Distribution of powers

(D) Committed judiciary

and



93.

94.

9s.

= § @ = awed aEiest o i
=T TG AT B ?

(A) Hifets TSR

(B) ¥TH & i3 TE

(€) T Hifa = freere fagia

(D) TifeTeh A

What ensures economic justice to Indian
citizens ?

(A)
(B)
©
(D)

WRATE |iT9M %1 SF @ 3ess T
TR 1 TTH YAl o 3TRISH & fou
e g ?

(A) IT=8e38  (B) 3ITTHT 46
(C) =BT 44 (D) TG 40

Which Atrticle of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 38
(C) Article 44

Fundamental Rights

None of these

Directive Principles of State Policy
Fundamental Duties

(B) Article 46
(D) Article 40

f-wm = 19 SaE w1 =R
IELERCEIRIN

(A) SoTdd TF HEdl HHT

(B) ¥ &I T

(ORREEETIN

(D) 39T HEal A

Who had proposed the idea of three tier
Panchayati Raj System ?

(A)
(B)
©
(D)

Balwant Rai Mehta Committee
None of these

Royal Commission

Ashok Mehta Committee

—15—

96.

97.

98.

99.

100.

HehesiIoh T 9 Bidl @
(A) T (B) AT (3TEyw)
(C) F (D) HYHE

Carcinogenic chemicals cause
(A) Heart diseases (B) Asthma

(C) Cancer (D) Diabetes
o S HH Tdg T hEATdl B ?
(A) 3w (Verefia)

(B) Tafyre = (Wi sfi)

(C) = (sfifa)

(D) fersr (Tfuefia)

Name the upper layer of the skin :
(A) Endodermis (B) Special Dermis
(C) Dermis (D) Epidermis
ferstett =1 o |iche W e gIaT 8 2
INERGEEISGER

(B) SWH IS dlces el Bl

(C) fesasg a1 9 EH W

(D) feEsEEN®™

Current flows in a circuit when

(A) A switch is opened.

(B) There is no voltage.

(C) The switch is either opened or closed.
(D) A switch is closed.

gfeQa 1 S.I. S FATR ?
(A) HTS (B) UffRR
(C) dIee (D) 3frEn

What is the S.I. Unit of resistance ?

(A) Faraday (B) Ampere

(C) Volt (D) Ohm

e 1 W g 3 9 ferwehl Iufeurta
o HRUT BIT & 2

(A) WTTEfH A (B) WitHs 37
(C) 3emfeTe 37t (D) THifes 3na
Sour taste of lemon is due to the
presence of which of the following ?

(A) Citricacid (B) Formic acid
(C) Oxalicacid (D) Acetic acid
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